AEl S AHQIHA QITIA =
E x5l
=3 dY/HIE o[o] x|

© HEINRICH KIPP WERK GmbH & Co. KG

Kinn

gix|, S2tLE T- OBl 712 4

X
02

> 1> o > 2
™ m ol pm A

2 El1.4034.

2| of
= =

AA X

— o T z

7t '~}

%ul-

ok

RAL3020.

T

2 40

ox
toi

i > H
>l gmrg
|

e £ 82

o

e,
= ded
o+|ﬂ+ E+E =

45t A F

2 9%l
| %I
7t

Al -|o|-

(o]
9
aff =& =

www.kipp.com - info@kipp.com 1/2



_— °
AEISS A A ClIA = =ZAalLAE (=)
AE =2 AH|OlEA OIHA EiX], E2IAE T-Ogl 1 71=2E 1
E x5}
=N
B
|
|
Sw2
= |
: [\
w
-
0,02
D-004
Z5 9
FEHS 2 A& S AR EfYA B D D1 L L1IL2L3AEZ3 SW1SW2 Fx30° A[Zf EiS
S Ehd S=2
F12. NF29% N
K1124.6206 AE 7.:1§I&.‘ RAL 7021 B 50155 6 M12x1,55820 8 17 6 14 19 18 6 14
K1124.6308 AE] 43| RAL 7021 B 60 18 8 M16x1,5 77261023 8 19 24 23 15 35
K1124.6410 AE] 43| A RAL 7021 B 72 19 10 M20x1,5 84281225 10 22 30 28 15 34
K1124.620684 AEl AES WZRAL3020 B 50155 6 M12x1,55820 8 17 6 14 19 18 6 14
K1124.630884 AE AMSSWZFRAL3020 B 60 18 8 M16x1,5 77261023 8 19 24 23 15 35
K1124.641084 AE] AES WZFRAL3020 B 72 19 10 M20x1,5 84281225 10 22 30 28 15 34
K1124.06206 2E|QIHA AE 2| M RAL 7021 B 50155 6 M12x1,5 5820 8 17 6 14 19 18 6 14
K1124.06308 AEIQIEA AE 3|4 RAL 7021 B 60 18 8 M16x1,5 77261023 8 19 24 23 15 35
K1124.06410 AEIQlEA A& 43| A RAL 7021 B 72 19 10 M20x1,5 84281225 10 22 30 28 15 34
K1124.0620684 2EIQIBA AEl ASS WZRAL3020 B 50155 6 M12x1,5 5820 8 17 6 14 19 18 6 14
K1124.0630884 AE(QIEIA ARl ASS WZFRAL3020 B 60 18 8 M16x1,5 77261023 8 19 24 23 15 35
K1124.0641084 AEIQIBA AR AlSS #WZFRAL3020 B 72 19 10 M20x1,5 84281225 10 22 30 28 15 34

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/2



